2006 — 12:47pm

Jun 23,

N:1Projects120061106029 ~ Delta Roofing Warehouse_Office Bldgi00 Drawing Files —current CAD filesi106029SF.dwg

2 3 4 5 6 7 8 9 10
en
— -
o =
o 3
A.4) (A.6 B D E E.5 F G H J o< &
@ =
% £ g
) 146'-11 1/2" . 5 m S 5
| 6-01/2" | 4-2" |4-91/2" 11-7 1/8" L 351 1/8" 21'-0" 20"-0" 24'-0" 201 5/8" 20'-11 5/8" ‘ S5.QaQ%
f A ‘ A\—- m: m- N: \4 m d 1. 1. W
/ - % - / o 5 aa:z
7 7 1 1 1 > S D0
55538
i WSS
=1}
of =
~E B
e E
=)
Y -
Q -
omm =
&
N =
=p=
CI
| = =
Q -
| Y | | | | | | omm =
il W14x26 \‘ [C4 ] [C4 ] | [C4 ] =u [C7 ] p—
(1) - sy, Ry : ” wie : : =] “ ® = :
| 7 - - ———r——— - - - - - - - - - - - ~ A 3 .
“ ! — |y BRACED FRAME =
I ge |e N
: ® _ —iBTN o %
& | | x| ¥ | MICH [ | | % | | ~
& g S| T & o F ~
- — = N iR \
wiaxig ST by : ? s, .
* . § .| SERE g,
I I z z S ey Ne® %eq %
W12x26 G | = C1 | S @ S 2% W s %
m N N N il (TOS=9-6 112 !// “ “@ 1 B B B o o o B B o @ o - , M/__ B W*"‘O v M*Mﬂm
] T =| - = — = —— A\ 8.8 Egt 7] taxE
(TOS=9'6 1/2") o (TOS=9'6 1/2") | I 233 e
& | X WMV_ _ EGX N
A N © | | | =z () =
NU ~ N | = | =< m = - \“\\ ) v/ S
W12x19 = S _ Q|| =< o5 .Y D | ¥ :
\l 7 — | ~N | N m/._ S ﬂ £ 23 am o0
= “ “ H b = 2 b\ A
//,/ W12x19 W12x26 .\ ! Q| = it i
8 S - (TOS=96 1/2") _ © I | M I .
Lce ] i T T =] [TZ ]
| |
- UPLIFT BRIDGING AT e e T N ! ! b o~ B — — — — — Y\ 7
® LOW ROOF JOISTS | S ST _ S = b 7 - - - - - - - - - - - —
© ONLY - (THIS LEVEL) = | ] & | @ u
! i i 3 | .
@ A B ==, c W14x26 W12x14 | | 9 2 _ &
..................... 1l 9 q ©< 0 5
; % i = | 2 =
10K1 10K1 / > H “ —Z &
M/_ - | = ! H E 7 C
q ol g © | 2 o) W12x19 . W12x19 i W12x19 ! = @ %
>4 ‘0 SN S NP RN I N N I £ = \ N 5 a & - = — | - - A a
S SN b g BNEIE [x=n Jr=n ox, sle 5 3 O
o < =12 £ 1 J X s = 3| a N Z o
: S5 S 1N S 3o 3% _
! < =l 2 ~ 0
_ =
L. == |-} - W12x26 == _ _, 5 FASTEN CHANNEL TO WALL w/ &
5 N — - 0 i “ = 3/8"@ HAS(E) HILTI HIT HY-150 | —
_ “ - =| @ 24"0.C. - 3 1/2" EMBED. | 2
i e o >
= i i 2/ waxe1 [C-T ] ! >
I [ 1__ L+ 1 __|L__4__-&-d “ “ = (TOS=11-7 1/4") | o N 4.5 ! Lud
] “ = L
= —~ = . v R
- ols 16K2 w|5 16K2 N | IR S S8 7 N Lk
eI o — < — =I5 —|[# “ @“ BH— O —r — - - — - — = = = — — - —H— - — — — i 4 =
2 =[¢ =(6 s o o : i
- - T T U_W|4 | B
- f wW——fb—_—ua—-———4——— ‘M—-——3F—-—4——rr—-———-a——--3=4 El n N ~ z
m N|O 1/ L. @ N.l@: N O 1/ nw @ N.u@: x_ |® ‘_\m “ “ ﬂ|_k.u & ) MU 7 n_u o
5 1 _ : g8 —38 ——=|5 % . £
o I I A
A-Im: _ "7 _ C M\‘U m A_u i M
S o|—¢ i | & | 2
[C5]A W14x22 Ll W12x26 ! = o [CA] . —
3 X — = T ¢ O = 8 - Nk 2.9 ~-
9 TN 3 [C1] ~
N @ o] ol wexat wex21 L N « (2.8 o
N a ! T (TOS=T1-7 114") = ﬂ TOS=11-7 1/4") N . ™ g
" 10K1 | 10K1 S P “ o & | Aelal@
N ol ol m | = 5 | ~Slel2E]38]8
by Ko d - L[] O3 I I I (R 800S250-54@16"0.C. =3 = Heetel:lels
N <l rm Nl » < ﬂ.ﬁ o | > _m:. ol8]| o
< =[S 7 IS NERE g - Sl sI12=1=2]2
~ = W ~ | L | — W__ ! m|o P
AWW TN g, S 2 elelsls|E]
NEMIC 2 - AHEIE B = X
T ~lo|l2]o]lo]| 8| OO
. W12x35 J W16x31 A é HEENEEIEE:
|||||||||||||||||||||| T — —N\ ES — — — L — — — XL — — — — — — — — N
? - - = WiaxZ6 ) = [Gi]  BRACED FRAME ] x=n (e 1
SECOND FLOOR FRAMING PLAN NOTES: g
BEARING PL. = | . ¢
7 34" x 10" 1. TOP OF STEEL ELEVATION = 11'-1 1/2" UNLESS NOTED (TOS) 2
2. ALL BEAM TO BEAM CONNECTIONS TO BE DONE WITH A SINGLE PLATE w
CONNECTION, 3/8" THICK. = g
3. TYPICAL JOIST BEARING PLATE = 7 1/2" x 3/8" x 0'-7 1/2" UNLESS NOTED. O = E
INDICATED BY 0O I Z 8
@ |
N 4. TYPICAL BEAM BEARING PLATE = 7 1/2" x 3/8" x 0'-7 1/2" UNLESS NOTED. ] H
, 6-61/2 INDICATED BY @ = o
5 << O Z
@ 4=, INDICATES SPAN OF 1 1/2" B-DECK - SEE SPECS. x =Z W <
; O |0 4
Z—, INDICATES SPAN OF 9/16" FLOOR FORM - SEE SPECS. S AMn T 2
| £
[h'
AMv PROVIDE 1/4" NEOPRENE SPACER BETWEEN BEAM WEB AND Loy i B
SHEAR TAB. O o
Z 0O
AMv CONTINUOUS L4x4x3/8" FASTENED TO WALL w/1/2" @ HILTI HIT HY-20 ANCHOR OO0
BOLTS @ 32"0.C. (MAX.) FOR DECK/JOIST SUPPORT. O
LU
@ SEE DETAIL E8/SF-500 FOR CONNECTION OF BEAM TO CMU WALL. 75
PROVIDE A HSS4x4x1/4 HANGER TO PICK UP LOWER BEAM. CONNECT HANGER
USING 1/2" CAP PLATE BOLTED wi/(4) 3/4"@ BOLTS. PROVIDE 3/8" WEB
AMv STIFFENERS IN UPPER BEAM EACH SIDE CENTER ON HANGER. SHEAR TAB PERMIT SET
CONNECTION OF HANGER TO LOWER BEAM.
JUNE 23, 2006
A1 SECOND FLOOR AND LOW ROOF FRAMING PLAN m“-._ °°
ﬂ\mg = Anlo-n
2 3 4 5 6 7 8 9 10



